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TR SERAENAXFE-12mMEERE

% g B - BT Bifr % B B ® & B =
BRI 11,003,580 + 333, 111 11, 426, 691
BEEAHE 11, 093, 580
EERE 333,111
T O IR A 11,093,580 x 53.85% ( 35% + (1 — 35%) ) 5,973, 892
KHRE 11,426,691 + 5,973,892 17, 400, 583
—REERE 17,400,583 x 53.85% ( 35% + (1 — 35%) ) — 796 9,369, 417
EnmE 17, 400, 583 + 9,369, 417 26, 770, 000
HERERLE 26,770,000 x 10.00% 2,677,000
e ST 26, 770,000 + 2,677,000 29, 447, 000




BERRE

SR TN B M X R BE (- 1 2m) B R BR AT

% R R - MR B 2 fif ] wm o=
BRI 11, 426, 691
SEREME M X FEEE (-12m) AR F R E 11, 426, 691
BEEMEMXFEEE (-12m) M EFRE 11, 426, 691
SEEMAMXFEE (-12m) MEDFRE 11,093, 580
ERETETE 139,100
REtETE 1.00 139, 100 139, 100
=X
Y S 1,844, 480
2 mERRORE 1.00 271, 900 271,900
=
3 REtEHOEHE 1.00 197, 800 197, 800
=
4 BEHETOB’RET 1.00 194, 960 194, 960
=X
5 REMDRE 1.00 456, 900 456, 900
=
6 HEEFETDIRE 1.00 567, 820 567, 820
=X
T HEER 1.00 155, 100 155,100
=X
AR Et 5,583, 400
8 BB DIER - EITDERTE 1.00 184, 200 184, 200
=X
9 MM DMERERE 1.00 184, 200 184, 200
=
10 75—y U&REH (IREX) 1.00 1,927, 600 1,927, 600
=X
1" r—y Uit (BBE) 1.00 1,927, 600 1,927, 600
=X




BEANRE SEE T I 0 X B (- 1 2m) M B 20

12 EER T %5 1.00 340, 600 340, 600
=

13 =70 U Hasst 1.00 340, 600 340, 600
=

14 (B EREt 1.00 340, 600 340, 600
=

15 HEHE 1.00 338, 000 338,000
=

HmE Rk 2,419, 400

16 HEER 1.00 2,419, 400 2,419,400
=

s - |E 302, 800

17 EaTiE 1.00 75, 700 75,700
=]

18 & 2.00 75, 700 151, 400
=]

19 &RI|E 1.00 75, 700 75,700
]

BE 219, 600

20 BE 1.00 219, 600 219, 600
=

S 584, 800

21 EHTRREER 1.00 568, 400 568, 400
=

22 AFRARERER 1.00 16, 400 16, 400
=

EEZE 333,111

EBRARE 105, 711

23 EHRARE 1.00 105, 711 105, 711
=

R 190, 000




BEANRE SR 0 (X 2 - 1 2m) MR R 2R 5

24 EFRER 1.00 190, 000 190, 000
=

BIREE 37,400

25 EIEBHAE 1.00 37, 400 37, 400
=X




S

KRMFT-FET/ SvH5— SRANBRX FE(-12m) M FERET
51
& EEHETE IEED
% bz R - K& B = fifi ] H %
FEHAR (F%E)
A 1.50 58, 600. 00 87, 900
HER (A)
A 1.00 51, 200. 00 51,200
= it YE¥HEH - 1.00K 139, 100. 00 139, 100
£S5 :2
£ BEIRBOERE IEED
2 [ R - BIKTiE B = i ] H %
FEHAR (F%E)
A 1.50 58, 600. 00 87,900
HER (A)
A 1.50 51, 200. 00 76, 800
HER (B)
A 1.00 41, 600. 00 41, 600
HER (C)
A 2.00 32, 800.00 65, 600
& 5 : 1.00= 271,900. 00 271,900
53
B ARG DEE IEED
% f R - KT B = i 2 H %
EXE 2T ACH))
A 1.00 58, 600. 00 58, 600
HER (A)
A 1.50 51, 200. 00 76, 800
e (B)
A 1.50 41, 600. 00 62, 400
=1 it 1EZRER : 1.00=K 197, 800. 00 197, 800




S

KRMFT-FET/ SvH5— SRANBRX FE(-12m) M FERET
5:4
£ BEHTOBRE 14y
% bz R - K& B = B @ ] H %
HER (A)
A 1.50 51, 200. 00 76, 800
HER (B)
A 1.50 41, 600. 00 62, 400
e (C)
A 1.70 32, 800. 00 55, 760
= 5 1E¥REH 1,00 194, 960. 00 194, 960
&S5
& REMHORE 14y
% b R - KT B = B @ 2 H &
FEHAR (F%E)
A 0.70 58, 600. 00 41,020
HER (A)
A 1.50 51, 200. 00 76, 800
HER (B)
A 3.70 41, 600. 00 153, 920
HER (C)
A 3.70 32, 800. 00 121, 360
Hift &
A 2.20 29, 000. 00 63, 800
& 5 1E%RERN : 1.00K 456, 900. 00 456, 900




S

Rz -/ \vr—> SEER N 0 X R B (- 1 2m) MR ER 5B 5t
EES 6
2 EEETORE EEL)
2 %fr\ 1B - IR B f B B i i % =
X fEFREm (%51
A 1.50 58, 600. 00 87, 900
BEF (A)
A 1.50 51, 200. 00 76, 800
BEF (B)
A 3.70 41, 600. 00 153, 920
HEm (C)
A 3.00 32, 800. 00 98, 400
-]
A 5.20 29,000. 00 150, 800
=) H YE¥HESH  1.00K 567, 820. 00 567, 820
L=
2%  REER EEL)
2 %fr\ 1B - IR Bif B B % i % =
BEF (B)
A 1.50 41, 600. 00 62, 400
HEm (C)
A 1.50 32, 800. 00 49, 200
BWe
A 1.50 29,000. 00 43, 500
& H YEZEREN ;- 1.00K 155, 100. 00 155, 100
&5 :8
2 MM OB - ERORE EE L)
2 %fr\ 1B - IR B f B B % B E % =
FEFE (&5
A 1.00 58, 600. 00 58, 600
RE (A)
A 1.00 51, 200. 00 51, 200
HEn (B)
A 1.00 41, 600. 00 41, 600
HEm (C)
A 1.00 32, 800. 00 32, 800
& Bt YEZEREN 1. 00K 184, 200. 00 184, 200




RER-FET/\vr—

SRER PR EH 0 X 2 B2 (-1 2m) MR AR 2R &

&5:9
& B OMEERE 1XHY
% f1 R - K& By £ B i 58 H %
FEHAR (F%E)
A 1.00 58, 600. 00 58, 600
HER (A)
A 1.00 51, 200. 00 51,200
HEm (B)
A 1.00 41, 600. 00 41, 600
e (C)
A 1.00 32, 800. 00 32, 800
& 5 1EZRERH 1,00 184, 200. 00 184, 200
E5:10
B r—y VR (B%EH) 14y
4 b R - KT By £ B {f ] H &
EXE T ACH))
A 2.00 58, 600. 00 117, 200
HEm (A)
A 16. 00 51, 200.00 819, 200
HER (B)
A 12.00 41, 600. 00 499, 200
e (C)
A 15.00 32,800.00 492,000
& &t 1E%RERN : 1.00K 1,927, 600. 00 1,927, 600
&5 1
B r—y UERET (BREE) 14y
4 bz R - BIKTiE By £ B {# ] H %
EXE 2T ACH))
A 2.00 58, 600. 00 117, 200
HER (A)
A 16. 00 51, 200. 00 819, 200
Bem (B)
A 12.00 41, 600. 00 499, 200
HER (C)
A 15.00 32,800.00 492,000
=1 it 1E%fERN 1,00 1,927, 600. 00 1,927, 600




S

KRMFT-FET/ SvH5— SRANBRX FE(-12m) M FERET
&5 :12
&% EEIERE 1XHY
% f1 R - K& By £ il 58 H %
HER (A)
A 1.00 51, 200. 00 51, 200
HER (B)
A 3.50 41, 600. 00 145, 600
HEm (C)
A 3.50 32, 800. 00 114, 800
Hitt g
A 1.00 29, 000. 00 29, 000
& B 1EZBER - 1.00K 340, 600. 00 340, 600
&5 :13
&% IO 8RRE 14y
4 b R - KT By £ il ] H &
HER (A)
A 1.00 51, 200. 00 51, 200
HEm (B)
A 3.50 41, 600. 00 145, 600
HER (C)
A 3.50 32, 800. 00 114, 800
Hifi g
A 1.00 29, 000. 00 29,000
= B 1EZEBER - 1.00 340, 600. 00 340, 600
ES 14
£ (TERERERE 14y
4 bz R - BIKTiE By £ il ] H %
e (A)
A 1.00 51, 200. 00 51, 200
HER (B)
A 3.50 41, 600. 00 145, 600
Em (C)
A 3.50 32, 800. 00 114, 800
Hift &
A 1.00 29, 000. 00 29,000
& B 1EZ%EBER - 1.00K 340, 600. 00 340, 600




KRMF|-FET/ S5 — SRANBRX FE(-12m) M FERET
&5 :15
2 BEHE 1XHY
% f1 R - K& By B = B i 58 H %
HER (C)
A 5.00 32, 800.00 164, 000
Hit g
A 6.00 29, 000. 00 174, 000
& B 1EZBER - 1.00=K 338, 000. 00 338, 000
= :16
2 REERK 14y
2 [ R - BIKTiE By o = B i 58 H %
BEm (A)
A 2.00 51, 200. 00 102, 400
HER (B)
A 17.50 41, 600. 00 728, 000
HER (C)
A 17.50 32, 800. 00 574,000
Hitt g
A 35.00 29, 000. 00 1,015, 000
& B 1EZ8ER - 1.00K 2,419, 400. 00 2,419, 400
5511
%5 . BAlHE IEEP
4 L1 R - KT By H = B i 58 H %
EXE 2T ACH))
A 0.50 58, 600. 00 29, 300
HER (A)
A 0.50 51, 200. 00 25, 600
e (B)
A 0.50 41, 600. 00 20, 800
& i {EZ8EH - 1.00[m 75, 700. 00 75, 700




RER-FET/\vr—

SRR BT E M X R B (-1 2m) AT S ER AT

&5 :18
& PREERE HEED)
% f1 R - K& By £ il & ] H %
FEHAR (F%E)
A 0.50 58, 600. 00 29, 300
HER (A)
A 0.50 51, 200. 00 25, 600
e (B)
A 0.50 41, 600. 00 20, 800
& Hi 1YEZHER - 1.00[E 75, 700. 00 75, 700
&5 :19
£ REBE HEED)
4 £ R - KT By £ il & ) H &
FEHAR (F%E)
A 0.50 58, 600. 00 29, 300
HER (A)
A 0.50 51, 200. 00 25, 600
HEm (B)
A 0.50 41, 600. 00 20, 800
& it 1YEZRER : 1.00[E 75, 700. 00 75, 700
H5:2
&% . BE 14y
4 L1 R - KT By £ fili & 58 H %
EXE 2T ACH))
A 2.00 58, 600. 00 117, 200
HER (A)
A 2.00 51, 200. 00 102, 400
& Hi 1E%fEH : 1.00K 219, 600. 00 219, 600




RER-FET/\vr—

SRR BT E M X R B (-1 2m) AT S ER AT

&5 : 21
& EBRTRREER 1XHY
% f1 R - K& By B = B i & ] H %
FEHAR (F%E)
A 2.00 58, 600. 00 117, 200
HER (A)
A 3.00 51, 200. 00 153, 600
e (B)
A 4.00 41, 600. 00 166, 400
Em (C)
A 4.00 32, 800. 00 131, 200
& B 1EZBER - 1.00K 568, 400. 00 568, 400
E5:22
2 ARFARERIER 14y
£ b3 R - KT By B = B i & ] H &
HER (C)
A 0.50 32, 800. 00 16, 400
& B 1EZBER - 1.00 16, 400. 00 16, 400
5:23
&% EBARE XY
% L1 R - K& By B = B & i H %
EXARE
= 1.00 105, 711. 00 105, 711
& B 1EZ%EBER - 1.00=K 105, 711. 00 105, 711
55 :24
B EBRER 1KY
% f1 R - K& By B = B i & ] H %
EBBRERERE
= 1.00 190, 000. 00 190, 000
& &t 1EZ%EBER - 1.00K 190, 000. 00 190, 000




RER-FET/ Svr—

SRR BT E M X R B (-1 2m) AT S ER AT

&5 :25
& BIERERE IEE D)
% 5 1R - KT B £ B @ € % ik &
MIRERE
=® 1.00 37, 400. 00 37,400
& &t 1EZRER - 1.00 37, 400. 00 37,400




